1) A pie is to be divided among 20 people. A man eats 3 pieces, a woman eats 2 pieces and a child eats ½ a piece of pie. What is the number of men, women children, so that 20 people in total and everyone get the same pie? There are 20 pieces of pie in all.
· 7 women, 1 man, 12 children

· 5 women, 1 man, 14 children

· 4 women, 2 men, 12 children

2) A school yard contains only bicycles and 4 wheeled wagons. On Tuesday, the total number of wheels in the schoolyard was 114. What would be the possible number of bicycles?

· 18

· 17

· 16

· 8

3) Bob, Peter, Oliver and 2 girls –Raven and Chelsey are to be seated in a row. Raven often gets sits to left of Bob. No girl sits at extreme positions and middle positions. Peter always sits at the extreme position. Who sits to the right of Chelsey?

· Oliver

· Bob

· Peter/Oliver

· Peter

4) There are 7 children and the youngest child is a boy. What is the probability that all of them are boys is 1 in

· 2!

· 64

· 128

· 2

5) A taxi driver commenced his journey from a point and he drove 10 km towards north and turned to his left and drove another 20 km. After waiting to meet a friend here, he turned to his right and continued to drive another 10 km. In which direction is he now?

· West

· South

· North

· East

6) A seamstress buys a certain amount of Gingham cloth which comes in rolls that are exactly 56 inches wide. She has also bought a certain length of Seek sucker cloth and 35 inches wide. The seamstress first focuses on the Gingham roll ad discovers that she has 116 yards of Gingham and she wants to divide the gingham into 116 lengths of 1 yard each. She wants to have twice as many pieces of seek sucker as she does of the Gingham. It takes 4 seconds to cut each length of Gingham. Working non-stop, how long (in seconds) will it take her to cut all 116 pieces?
· 464

· 460

· 463

· 465

7) Determine the distance between x-intercept and 2-intercept of the plane where equation is 6x+8y-32=72.

· 3

· 26.83

· 9

· 25.63

8) When Rajeev was born, his father was 32 years older than his brother and his mother was 25 years older than his sister. If Rajeev’s brother is 6 years older than Rajeev and his mother is 3 years younger than his father, how old was Rajeev’s sister when Rajeev was born?

· 15

· 7

· 17

· 10

9) There are two water tanks A & B, where A is smaller than B. While water fills at the rate of one litre every hour in A, it gets filled up litres10, 20, 40, 80, 160 in tank B. (At the end of first hour, B has 10 litres and at the end of second hour, it has 20 and 30 ml.) If tank B is 1/16 filled after 13 hours. What is the total duration required to fill completely?

· 18 hr

· 4 hr

· 16 hr
· 7 hr.

10) 20 people meet and shake hands. The maximum number of hand shakes possible if there is to be no ‘cycle’ of handshakes is( a cycle of handshake is a sequence of people a1,a2,…..ak)such that people(a1,a2),(a2,a3)…..(a(k-1),ak),(a2,a1) shake hand is
· 16

· 18

· 19

· 17

11) Peter is twice as old as Paul was when Peter was as old as Paul is now. Combined age of Peter and Paul is 30 years. How old is Peter now?

· 15

· 22

· 20

· 17

12) At the college entrance exam, a candidate is admitted according to whether he has passed or failed the test. Of the candidates who are really capable, 80 % pass the test and of the incapable, 25 % pass the test. Given that 40 % of the candidates are really capable, then the proportion of the really capable students who can pass the test to the total students who can pass is about:

· 68

· 70

· 75

· 73

13) A toy train produces at least 10 different tunes when it moves around a circular toy track of radius 5m at 10 m/min. However, the toy train is defective and it now produces only 2 different tunes at random. What are the odds that toy train produces 6 consecutive music tunes of the same type.

· 32

· 64

· 36

· 6

14) NY public library is one of the world’s greatest repositories of books and journals. It has a beautiful reading room facing Manhattan’s famous 5th Avenue. In the reading room are10 reading spots. Each reading spot consists of a round table with 4 chairs placed around it. There are some readers such that in each occupied reading spot, there are different numbers of readers. If in all there are10 readers, how many spots are empty?

· 6

· none

· 5

· 4

15) A tap can fill the tank in 15 minutes and another can empty it in 8 minutes. If the tank is already half full and both the taps are opened together, the tank will be: 

· filled in 12 min 

· emptied in 12 min 

· filled in 8 min  

· emptied in 8 min 

16) Ferrari S.P.A is an Italian sports car manufactured based in Manonello, Italy. Founded by Enzo Ferrari in 1928 as Sarderi Ferrari, the co-sponsored drivers and manufactured race cars before moving into production of street-legal vehicles in 1947 as Ferrari S.P.A. Throughout its history, the company has been noted for its continued participation in racing especially Formula One, where it has enjoyed great success. Rohit once bought a Ferrari. It could go 2 times as fast as Mohit’s old Mercedes. If the speed of Mohit’s Mercedes is 43 km/hr and the distance traveled by the Ferrari is 925 km, find the total time taken for Rohit to drive the distance.
· 11 hr

· 21 hr

· 46.2 hr
· 10.76 hr

17) A hunter walked one kilometer south from his camp. Then he walked one kilometer west. There he shot a bear. Then he walked one kilometer north, and found that he was back at his camp. What color was the bear?

· Black

· White

· Brown

· None of the above

18) A rope of given length is used to form a triangle of sides 23, 24, 34 cm. If the same rope is used to form a square, what would be the area of square?

· 20.25 sq. cm

· 203.06 sq. cm

· 729 sq. cm

· 410.06 sq. cm

19) Samantha is taller than Chelsea and taller than two of 100 pillars. Ann is shorter than Samantha and 3 pillars. Which is true?

20) In the story of Alice in wonderland, Paul will be twice as old as Alice. Presently, he is 4 times as old. How old is Paul?

· 4

· 5

· 3

· 7

21) The ratio of Rita's age to her mother's age is 3:8. The difference of their ages is 35 years. The ratio of their ages after 4 years will be:

· 7:12
· 5:12

· 38:48

· 42:47

